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Note: (1) There are in all 30 questions in this question paper. All questions are compulsory.
(i1} Marks allocated 10 every question are indicated against it.
(iii) Question No.1 is multiple choice type question. Question Nos.2 to 6 are of one mark each.

Quecstion Nos.7 o 15 are of two mark each. Question Nos, 16 to 24 are of three mark
cach, Question Nos.25 to 31 are of four mark each.

1. 39 UE @ UAd Eve B 9N H 9N fase Rl 1y € wé fwey ol S—gRaa
i Ry — 1566
Four options arc given in each part of question. Write the correct answer in your answer book -
(@) fadere gof &1 EAfRS 93 8 -

The chemical formula of Bleaching Powder is —
(iy Ca(OH); (ii} CaOCl; (iii) CaCl, (iv) CaS04.2H,0O

(@) uH sadH feEd & pH BT A A —

A neutral solution has a pH of exactly —

iy © (i) 1 (i) 7 (iv) 14
(M) ST, A @ B W w9 g -
(i) SET (i) @ (i) SedeE  (iv) TREEd
The Diaphragm in human beings are a part of the system for -
(1)  Mutrition (i) Respiration (iii) Excretion (iv) Transportation

(=) ﬁgﬁﬁﬁwﬁuﬁm'ﬁﬁﬁﬁﬁmﬁﬁﬁuﬂaﬁﬁﬁmaﬁmmﬁ—

The symbol used to represent a ‘resistor’ in an electric circuit is —

i ——)— . e = G
(@) el edvl & ford ugae faran o= arem Uu 93§ —

The mirror formula used for spherical mirrors is —

] 1 I A i L R L ar

(i) ;+;—‘F (ii) {-’_‘_;—F{Ill} f=§ (iv) m==
(@) SEEE (S 1) B e 9ad § —

(i) T SEAEEE (i) IHFET (i) w2 (iv) "

The main constituent of biogas is —

(iy Carbon dioxide (ii) Ammonia (iii) ‘Ethane (iv) Methane
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11.

12.

13,

14.

15.

1E.

T W 9T Iy g 7 1

What is meant by Galvanisation ?

U e Swafell qu &1 veh—us Sarew iRl | 1
Write one example cach of unisexual and bisexual flower.
1 foveiare g2 (kwh) faga i fa o & goa & 2 1

How many joule are equivalent to | ki'owatt hour (kwh) electric energy ?

fFee—gfe <m T dd-gfie I @ TOE F @ ol Py ver @ St @

ST a1 & § 2 1
What type of lenses are used to correct the near-sightedness and far-sightedness 7

IS WRT & 3(Uerd & ferdl &I W1 TWg+ qee: Sovarl /F a7 & ? 1
Which chemical is considered to mainly responsible for the depletion of Ozone layer ?

o=t sl el B wgfed S — 1+1=2

Balance the following chemical equations —
(®) Pb(NOy)y ———» PHO+NO,+0,
{E) FC + EIE{:’ —_— Fu:'[}'q . H3

®1dA TR B TSR B R w e A0 6 AHer S — 141=2
On the basis of nomenclature of carbon compounds, name the following compounds —

H H O

@ 11 (@)
H—-C—-C—-C-0H H-

I
H H

aHAT e BRr # 27 ey ferfed | 2

State two differences between artery and vein.,

a3 B &1 AEifea e a9=y | 2

Draw the labelled diagram of Neuron.

faden, sg@eT 9 4 yaR fig 8 7 2

How does binary fission differ from multiple fission ?

TAfHT @1 aes R forfe | ; 2

State Fleming’s lefi-hand rule.

12V faweErr & &1 fagell & 9@ 2 c amaw o o o # e mrl far s 2 7 2

How much work is done in moving a charge of 2 C across two points having a potential difference
12V 7
STl BT YA 1.33 ¥ §H $UA BT FAT AU 2 ? 2

The refractive index of water is 1.33. What is the meaning of this statement ?

W Tl Ugiferas S Wigpfae dunsi & faegel Swamr @ sravaedr #f & 7 2

Why there is need to use natural resources like coal and petroleum judiciously ?

el @1 arad s, amgfie amad frm & 5 ter e & > wwensd | g

How Mendeleev's periodic law differs from modemn periodic law ? Explain.

+H

N

H
|
-C=C

T —O— =
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wReY e e 1 e & w9 sl o1 S faied 9 winey e uie
& 21 HEEysl SUAN qaigd | .

Write an equation to show the reaction of Plaster of Paris with Water. Give two important uses of
Plaster of Panis.

savd O gE ug @ Fresde # uged Rfte =Rl e wie ewer dfer | 3
Give brief description of steps involved in the extraction of pure metal from ores.
Y4l (OR)
(@) e qun St sifafe & w s § 7 SSEN ae) aengy | 2
Explain with example the exothermic and endothermic reactions.
(@) aerdiirawor siffEar o1 € 7 UE S &t | 1
What is neutralisation reaction 7 Give an example.
T grger gt fwsddy gy § @ ofav 8 7w @i | 3

What is the difference between autotrophic nutrition and heterotrophic nutrition ? Clarify.

WG AR @ I 5= A B Amieed diford 9 Tl$ & B gargd |

Mention three main parts of Human Brain and give the functions of each,

fret o= wiftra Roeft fiRed — (@) el @ damfy & (@) S 412 =3

]

Write short note on following — Rules for inheritance of traits Fossils
Hel ™ 4Ruel § R=10Q.R;=40Q R,=30Q, o g
R,=20Q, R=60 QT HfRrS & 59 fa=rg , -~ ! :
B 12V W Fuford ey o 8| 9Rkuer #§ yared AP i
el faega g gRafor B | = R, 3
In adjacent figure R, =10Q  R.=40Q R;=300Q, _-: ¢ R -
Ry;=200Q R;=60Qanda 12 V battery is connected R
to the arrangement. Calculate the total current flowing ;(1'"—{—”““'—'
through the circuit. ﬂm"_
FHRI TS —
Give reasons —
(@) WX ® God (Rre) &7 GHe a1 Bl Bl 8 | 1
The *danger” signal lights are red in colour.
(@) we 7] 78 fealcan § ? 1
Why the planets do not twinkle ?
34l (OR)
®E & o gV 399 Uarer & fagger &1 uftear &1 |ie wrErsd | 3

Explain diagrammatically the process of dispersion of white light by glass prism.

B Fall S SeUd Bl & 7 ANDI Hal & IUANT T GHIANT B FHSET | 3

How is nuclear energy generated 7 Explain the use and misuse of nuclear energy.
3ET (OR)
Holt @ g Al @1 [awer e |

Give description of conventional sources of energy.
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30.

B U o (BTe TEAE FHER aliord) — 1%4 4

How will obtain (Give chemical equation only) —

(@) verETE 9 Ui (@) CIHE® I ¥ TN
Ethene from Ethanol - Ester from Ethanoic acid
(M vl | geHigs (@) vefE 9 e
Ethanoic acid from Ethanol Ethane from Ethene
e A ofr @I —  (B) STwas vd svwee (W) WigE iR sueeie 202 4
Differentiate in following - Oxidation and Reduction Soaps and Detergents
HYdl (OR)
(@) arad AN & weE A @ aUr A H i W S | 2
Clanify the difference between Group and Period in reference to periodic table.
(@) IfT e EEdEedd B g3 foied g S dveEn e s 2
Write the formula of Benzene and Cyclohexane and draw their structures.
HIF Sy Pl Y Bl g gy o 99 Frifed @ guied — 4

Diraw a neat and clean diagram of sectional view of Human Heart and show the following
(i) HETEE (i) srr anforg (iii) a4l ey (iv) favrfrsT
Aorta Right atrium Left ventricle Septum
ajerdr (OR)
A Soeoi T B e gerey aun gwd FefefEd At e geigd -

Diraw a neat and clean diagram of human excretory system and label the following parts in it -

i) gFm (i) HErfE (i) T (iv) =TT

Kidney Ureter Urinary bladder Urethra

faga #Aey syar Rga == ﬁwﬁﬁm@ﬁqmmﬁm@
HrIfAR e AT |

Drzaw a labelled diagram of an ‘Electric Motor® OR ‘Electric Generator’ and explain its pnncnple
and working.

U 2 T e fdm 10 W wiew gt @ 90 o B T o8 & wadd vl 8 49
o o B g0 15 w1 § | vfafda @ wefa, Refd, wge o e sma S | 4

A 2 cm tall object is placed perpendicular to principal axis of a convex lens of focal length 10 cm.
The distance of the object from the lens is 15 cm. Find the nature, position, size and magnification
of image.

Tt @@ & P uRes @ Sucd! &7 fFave iy g vs uiNe S H el & "aie @
a9y | 4

What is Ecosystem ? Give description of the components of ecosystem and draw a diagram
showing flow of energy in an ecosystem.

*kkkkFrk

233 (HBK) [4]



el o qied TS & HET o4

Roll No. No. of printed pages: 4
033 - 233 (HBL)
2015
IEEIE R GEURED
SCIENCE (THEORY)

Y - 3 gue ] [ gotiss - 80
Time : 3 hours | [ Max. Marks : 80

e () 59 uea uF # g 30 wee €1 o uw aiferd §
i) we® we & ol e sie 9ua we ol T E |
(iii) ¥ T 1 Ggfddedid U B | UeH €EW 2 9 6 96 US Sib B U §| wed
W 7 ¥ 15 U6 <1 3@ B U | U WEW 16 ¥ 24 a dF 3F B U
2| U3 HET 25 ¥ 30 9 AR 3F B U €
Note: (i) There are in all 30 questions in this question paper. All questions are compulsory,
(i1} Marks allocated to every question are indicated against it.
(iii) Question No.1 is multiple choice type question. Question Nos.2 to 6 are of one mark each.
Question Nos.7 to 15 are of two mark each. Question Nos.16 to 24 are of three mark
each. Question Nos.25 to 30 are of four mark each.

1 39U & UAE WS & SR A AR fAeen B3 ™ #) 9 Reer sl ste—gRee
Y forfRes — 1%6=6
Four options are given in each part of question. Write the correct answer in your answer book —
(@) UIHTSS vl BT EETE G B —

The chemical formula of Ethanoic acid is —
(i} C,H;OH (i) CH;COOH (iii) HCOOH (iv) C; H; COOH

(@) iy o &1 pHAF gar & —

The pH value of acidic solution is —

(iy pH=7 (ii) pH=>7 (iil) pH=7 (iv) pH=14
L £ B < B 5 a0 s L o - s ol -1 =
(i) | & UP (i) BET SIATRAES (iii) T (iv) SR
Which of these is not required for photosynthesis —
(1) Sun-light (i) Carbon dioxide (iif) Water (iv) Oxygen
(=) g gftse &1 s, 996 & —
(i) 30 (i) THEER (iii) dlee (iv) 3NH—HIEY
The 5.1. unit of electric resistance is —
(i) Ohm (i) Ampere (iii) Volt (iv) Ohm-Metre

(8) foull v of| @ e 2 SEex ¥ | T BrEw g Bef —

The power of a convex lens is 2 D. Its focal length will be —
(i) 20 cm {ii) 40 cm (iii) 10 em {(iv} 50 cm

@) e (FerE) Ao fFE ad gRer gl o —
In which year Ganga Action plan started - .
(1) 1947 (ii) 1985 (iii) 1990 (iv) 1995
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10.

115

12.

13.

14.
15;

186.

i

T °1g B T 9 Wde fARed S Wy a W gg aawer § a8 @nl # | 1

Write the name and symbol of a metal that exists in liquid state at normal temperature.

{81 &I UIed 8ME & 9 feRad | 1
MName any two plant hormones,

1 feiae geT (kwh) =@ ol e S & Gea & 7 1
How many joule are equivalent to 1 kilowatt hour (kwh) electric energy 7

gl a9 © (AR & Ay (&0 TR & ofF & qa B 7 1
What type of lens is used for correcting hypermetropia 7

A & & "edl & AW iy | 1
Write any two components of Bio-gas.

19 WIST & YEEHe g3 g 8§ 9uan folked | 2
Give the chemical formula and two uses of washing soda.

It areErse O dar wHsa B ¢ AefeRea | | owaydt angass wiftw - 2

What do you mean by amphoteric oxides ? Choose the amphoteric oxides among the following
Zn0 , Na,0 , Al;0, , CO,

dfEreT SIffreT &1 Tmifea =F g9y | 2
Draw the labelled diagram of Neuron.

yferasi! fem @ & ? uftaddt G F wRass @t w1 i & 2 2
What is reflex action ? What is the role of brain in reflex action 7

(@) T a7 FHEY T B Te—Us ITever ol | 1

Write one example each of Analogous and Homologous organs.

(@) ¥ & IRR H I9 T F AW Rey 91 sHE T2 USagd |1 i wel g1 1
MName a gland in the human body that secretes both hormone as well as enzyvme.

Tl T alEv—av Fam faRa | 2

State Fleming’s right-hand rule.
51 faega acai ® T 60 W, 240 V TAT 40 W, 240 V 3ifdHa 8| 579 & e ofomw
fdd B ? AT Sifor | 2

There are two electric bulbs marked 60-W, 240 V and 40 W, 240 V respectively. Which one of
them has higher resistance ? Calculate.

&N BT UGS 242 8| 39 T FT @47 YT § 7 2

The refractive index of diamond is 2,42, What is the meaning of this statement ?

I T Ugifera® oI wihfos Sl & [deye! SuanT @ anasgsar ¥ 8 7 2

Why there is need to use natural resources like coal and petroleum judiciously ?

o Ten fEfaverus afaftmell & T err ® ? 39 aiffamelt & e fed ) 3

What is the difference between displacement and double displacement reactions 7 Write equation
for these reactions.

(@) omafTe Affe! @1 Fauds S ®@ii gl 8 2 i
Why do ionic compounds have high boiling point ?

233 (HBL) [2]



18.
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20

21,

22

23,

24,

(@) Frafafaa e &1 LupACc § Fm fofe — 2

Give the LU.P.A.C. name of the following compounds -

H H
() CH;-C=0 (i) | SHE 0H
| H=-C-C=C
H | M
H

a1 @ X' TR Y & URATY HHiD mHI 11 T 17 & —
Two elements *X" and *Y" have atomic numbers |1 and 17 respectively —
(i) XY @ gelagiae avaH fafad | 1

Give the electronic configuration of *X™ and *Y".
(i) X @Ry oy amEs ol § wer Reg € 7 1

Where in the periodic table, the elements *X" and Y are placed ?
(iii) 9 T 7 BT G T2 BE G B 7 1

Which is metal and which is non-metal in these elements.

HAdT (OR)

v 9§ gE Uy @ e § gyad s gl w e R SR | 3
Give brief description of steps invelved in the extraction of pure metal from ores.
e H guiterd O gowl @ 7 ffad | v@e &1 et S wEensy | 3
Write the name of three components present in blood. Give one function of each of them.
TAUSy qger e fgHl U # gor oftw € ? v difrd | 3
What is the difference between autotrophic nutrition and heterotrophic nutrition ? Clarify.
(@) &= 81 39 FaRa I & 9@ folked | 1
. Name any two sexually transmitted discases.
(@) YT Hyemvr g Yawd H o adigd | 2

Differentiate between photosynthesis and respiration.
ured gRuer ¥ =1 B — /vw33VW\ 1412
For the given circuit diagram, calculate — NN,
() Rwer @ et TR 100

The total resistance of the circuit 200 W
(i) ufger § yariRd aw 28V ~

The total current flowing in the circuit 3 |I; = (] \_i‘/
(@) ude & Auga & e ey | 2

Write laws of refraction of light.

(@) e 5= @ e g & fn ) fasg g Piee i, 9 @ e o W

gl 8 2 1
What is the distance of far poinf and near point of the human eye with normal vision ?
IYET (OR)
bY@ U g1 ¥aa garer & e @ ufsar & afs a9ersy 3

Explain diagrammatically the process of dispersion of white light by glass prism.

BAR qAVSS H A W S a7 § 7 e e e | o uwva @
T 98 8 7 3
How ozone layer is formed in our atmosphere ? Write its chemical equation. What is the
importance of ozone layer ?

312747 (OR)
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25,

26.

27,

28.

29.

30.

qIRE= | S0 &7 WA 8 ? §HG q Hehl b quE difed |

What do you mean by Ecosystem 7 Describe its major components,

1 BT & W9 (dad warfe wewr o) — 1x4=4
What happens when (Give chemical equation only) -
(®) o O @ W WY Yaied B Sl |
Steam is passed over red-hot Iron.
(@) e @1 GfsTs eggaass 9 b 3 o & |
Zinc reacts with Sodium Hydroxide.
(1) \fSTw FEEEET B Y By o 8 )
Sodium Bicarbonate is heated,
(&) uHTE® ond @ et o fhar @ W g |

Ethanoic acid reacts with Ethanol,

(@) osmfe anad fm F@r g ? 1
What is Modern Periodic law 7

(@) wieR 3F URE @ S & 9y st &1 wieer el e e o
URNE &% &1 HEcgyrl SUHeT auned | 3

Write an equation to show the reaction of Plaster of Paris reacts with Water, Give two
important uses of Plaster of Paris.

4l (OR)
F o ik BRI - (5) WgT ok sl (@) SUEEH Ud aTEEE 2404
Differentiate in following — Soaps and Detergents Oxidation and Reduction
AT Soe O @1 W@ o aned qen eud Fefeiad awi e gufgd - 4

Draw a neat and clean diagram of human excretory system and label the following parts in it —
(i) gF® (if) *arfes (iti) =TT (iv) At

Kidney Ureter Urinary bladder Urethra

34T (OR)

W9 §ed @1 0 BIc §¥Y Fsy e 99H Aeifed & guigd —
Draw a neat and clean diagram of sectional view of Human Heart and show the following —
(i) wEmEmsT (i) =TT anfors (iii) @ e (iv) ey

Aorta Right atrium Left ventricle Septum
faga oI sgar Rga Hew @ G ang gaes e e o sk
BT [T | 4
Explain the principle and working of *Electric Generator® OR “Electric Motor’ by drawing its
labelled diagram.

U 2 WA Far e 10 9 Brew g § S9d o9 § g S & oedg e 8| f4y
U o B gl 15 W B | ufafde @ uefa, Ruft, wsw qur ars s Fiftw | 4

A 2 cm tall object 1s placed perpendicular to principal axis of a convex lens of focal length 10 cm.
The distance of the object from the Iens is 15 em. Find the nature. position, size and magnification
of image.

T ol @1 & ? AT Sl B SUEnT 0 SeudnT B uHeEd aiR e
il &Y YAFd B dTel &1 9wl & A faRad | 4

What is nuclear energy 7 Explain the use and misuse of nuclear energy and write the name of two
elements used for nuclear energy.

¥¥FEFERFE
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